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(O Who is Mr. Jones waiting for?
(A) A Japanese man. (B) An Australian man.

(C) A Japanese woman. (D) An Australian woman.

@ How many times has Mr. Jones met the man before?
(A) He has met him once. (B) He has met him twice.

(C) He has met him three times. (D) He has never met him.

@ Tell us about the man Mr. Jones is waiting for.
(A) He has a black cap and a white bag.
(B) He has a black cap and a blue bag.
(C) He has a blue cap and a white bag.
(D) He has a blue cap and a black bag.

@ What time is it in Tokyo now?

(A) 4:00. (B) 4:30. (C) 5:00. (D) 5:30.

® What will the clerk do if the man comes?
(A) She will tell him to come back in thirty minutes.
(B) She will tell him to repair his watch.
(C) She will tell him to wait for Mr. Jones here.

(D) She will tell him to feel sorry for Mr. Jones.



